Тренинг   по свойствам логаримов
    А.   Вычислить:
      1.   log123+log124;              2.  log155 + log153;             3.  log 142+log147;              4.    log186+log183;
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;        7. log0,15 + log0,12;                8.   
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     9.   log5875 - log57;                             10.   log3324 - log34;                  11.     log550 – log52;
    12.  log4192 - log43;                           13.    log437 - log42
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;               14.     log3
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 - log340,5;
    15.  log213 - log21
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;                        16.      log753  – log71
[image: image7.wmf]49

4

;             17. log4645;
    18.   log51257;              19.   log14
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;              20.     log287;                 21.       log3910;

     22.     log15
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;          23.   log13
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;           24.  log12
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;               25.  2log103 - 
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;        27.  
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;         28.   
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   29.  log20,8 - log21
[image: image16.wmf]8

1

+log222,5;                            30.     log4 3,4 – log4 8
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 + log4160;

   31.  log31,5 - log31
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+log332,4;                              32.  log33,6 – log31,4 + log31
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   33.   
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;                     34.   
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    35.      
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Б:       1.     Зная, что  log4 c =11,      найти:           a.   log4(5c);           b.   log4 c12 .
           2.     Зная, что  log5 b =8,        найти:           a.    log5(11b);           b.    log5 b4 .
           3.     Зная,  что  log2 a =14,      найти:        a.    log2(8a);           b.     log2 a3 .
           4.     Зная, что  log3 b =9,       найти:          a.    log3(9b);           b.   log3 b4 .

           5.    Зная, что  log2m=9,  log2 n = 2 ,          найти:    a.   log2(mn3);        b.   log2
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6.  Зная, что  log3a = 2,  log3 b = 6 ,    найти:      a.   log3(a2b);        b.   log3
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7.  Зная, что  log2c = 3,  log2 d = 7 ,    найти:      a.   log2(cd3);          b.   log2 
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8.  Зная, что  log5p = 4,  log5 k= 6 ,     найти:       a.   log5(p2k2);          b.   log5
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